Chiffres Romains (C)

Faites la conversion entre les numéraux arabes et romains ci-dessous.

MMMDCCCLII = 3852 MCXLVI =
MDCCXXXI = MCMLVI =
MMDCCXXX = MMMCCCLXI =
MMMDLII = MDCCCLXXIV =
MMMCMXLVIII = MCMXLIII =

MMMDCCXXXI = 3731 = 2043

= 1281 = 1926

= 1986 = 2910

= 3165 = 2009

= 2189 = 3200
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Chiffres Romains (C) Solutions

Faites la conversion entre les numéraux arabes et romains ci-dessous.

MMMDCCCLII

MDCCXXXI

MMDCCXXX

MMMDLII

MMMCMXLVIII

MMMDCCXXXI

MCCLXXXI

MCMLXXXVI

MMMCLXV

MMCLXXXIX

3731

1281

1986

3165

2189

3852

1731

2730

3552

3948

MCXLVI

MCMLVI

MMMCCCLXI

MDCCCLXXIV

MCMXLIII

MMXLIII

MCMXXVI

MMCMX

MMIX

MMMCC

1146

1956

3361

1874

1943

2043

1926

2910

2009

3200
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